B & % M B % B KR &K (AL A - )
20074 05H (05401 H~06J01H) (6 0%h)
wieEm Geh BAdh
| 9,680 ] () - BEAIGIE AR 3 OfEMLLL) OFRGIBIE LT 5,
s - PN e - ARNIFE L AR
R 8 B EA = é? e CHT - FEEOHSRITRIEER - (b GEDEVATHID 1Tk Mk,
%EEOH% B[ IO I TR - (e GEVEVARHID (TR 2k THh D,
- KIUE - (L] —NETHG 425,
HAL: 10HH g %
Wit - ZEAEt - AoAE
04 H 02 A ~ 04 A 27 A 5 401 A ~06 8 01 A
(Eld] s 75l & () IR 7 gl &
ERS P 0 0.0 0 0.0
e B 2B w» 0 0.0 0 0.0
a & 0 0.0 - 0 0.0 -
% =t BV 1,100[100.0 4,840[100.0
e B 2B v 1,100[100.0 4,840(100.0
a & 2,200[100.0 - 9,680(100.0 -
SR 7Y 1,100[100.0 4,840[100.0
FEEAEHE W 1,100[100.0 4,840(100.0
a & 2,200[100.0 - 9,680(100.0 -
ZEHENR
04 J1 02 H ~ 04 8 27 H 05 4 01 A ~ 06 A 01 A
i) I = 7 5l & flid] F 75l &
7Y 100 9.1 3,840 79.3|A 2,840
NI A 1,000 90.9 900 1,000| 20.7
a & 1,100 50.0 - 4,840| 50.0 -
7t v 0 .0 0 0.0
i A FHE W 0 0.0 0 0.0
a & 0 .0 - 0 0.0 -
7Y 1,000 90.9|A 900 1,000 20.7
LGP AN 100 9.1 3,840 79.3 2,840
a & 1,100 50.0 - 4,840| 50.0 -
HEANGER
04 J1 02 H ~ 04 8 27 H 05 1 01 H ~06 7 01 H
flid] I = 7 5l & i) I 75l &
i) 0 0.0 0 0.0
g (EEg | W 0 0.0 0 0.0
a & 0 0.0 - 0 0.0 -
i) 0 0.0 0 0.0
HEENE VL 0 0.0 0 0.0
a & 0 0.0 - 0 0.0 -
z o |7y 0 0.0 0 0.0
w=OAN|HEV 0 0.0 0 0.0
a & 0 0.0 - 0 0.0 -
& @ [3EY 100 9.1 3,840 79.3|A 2,840
B FHE W 1,000 90.9 900 1,000 20.7
a & 1,100 50.0 - 4,840| 50.0 -
SRFERAER
04 J1 02 H ~ 04 8 27 H 05 1 01 H ~06 7 01 H
flid] I = 7 5l & i) b E 7 5l &
AR ) 0 0.0 0 0.0
B\ |Ew 0 0.0 0 0.0
& 0 0.0 - 0 0.0 -
o - |22 Y 0 0.0 0 0.0
HogR | B W 0 0.0 0 0.0
& 0 0.0 - 0 0.0 -
ol 100 9.1 3,840| 79.3|A 2,840
2 2EERTT E W 1,000 90.9 900 1,000| 20.7
& 1,100 50.0 - 4,840 50.0 -
Z o | Y 0 0.0 0 0.0
4 ks | B W 0 0.0 0 0.0
& 0 0.0 - 0 0.0 -
EA. BHCOBIA - (5B il SHENFEBEICET BIEA, EAOHE
oA B 5t D A
o o =N
{E A4 0.0 0.0 B A
EAEH 0.0 0.0
HoBi® 0.0 0.0
HOEH 0.0 0.0
ek K BRGE % B 5] P



B E ¥ M B % E R &K (it - i)
20074 05H (05401 H~06J01H) (6 0%h)
woeEm (G2 HWEED
| 377,360 | () - AT AR 3 OfEMLLL) OTERBIBIE L5,
s - PN e - ARNIFER L AR
— Z?“Emz ;”;;2?5 z{iz” JeE - HE - FHOHEITRICE - e G20 EVATH) kB HR .
99 1 316 67 8 RO (iﬂ}‘E*%%ﬂé GeV EVAFED Ik DT 5,
- KIUE - (L] —NETHG 425,
HAL: 10H R %
Wit - ZEAEt - AoAE
04 H 02 A ~ 04 H 27 05 4 01 A ~06 A 01 A
(Eld] s gl & (Eld] IR 75l &
ED 50, 180| 21.0 40,250 21.5
= 83,880| 34.6 33,700 79,030| 42.0 38,780
& & 134,060| 27.9 - 119,280 31.8 -
ED 188, 750| 79.0|A 30,470 146,650 78.5|A 37,510
B 158,280| 65.4 109,140| 58.0
a & 347,030| 72.1 - 255,790| 68.2 -
Booo-|ED 238,930[100.0 186,900 100.0
FEEAEHE W 242,160 100.0 3,230 188,170/ 100.0 1,270
& & 481,090 100.0 - 375,070|100.0 -
ZEENR
04 J1 02 H ~ 04 8 27 H 05 4 01 A ~ 06 A 01 A
i) I = 7 5l & flid] F 75l &
7E D 52,430| 27.8|A 23,630 27,370 18.7|A 8,120
N A 28,800| 18.2 19,250 17.6
& & 81,230| 23.4 - 46,620| 18.2 -
D 95,410| 50.5|A 87,120 50,410 34.4|A 44,020
i A FHE W 8,290 5.2 6,390 5.9
o & 103,700 29.9 - 56,800 22.2 -
7t v 40,910 21.7 68,870 47.0
LGP AN 121,190| 76.6 80, 280 83,500| 76.5 14,630
& & 162,100| 46.7 - 152,370| 59.6 -
EAPR
04 J1 02 H ~ 04 8 27 H 05 1 01 H ~06 7 01 H
flid] I = 7 5l & i) I 75l &
i) 590 0.3|A 360 0 0.0
g AR B W 230 0.1 360 0.3 360
a & 820 0.2 - 360 0.1 -
i) 13,370 7.1|A 11,040 6,410 4. 4| A 6,240
HEENE VL 2,330 1.5 170 0.2
a & 15,700 4.5 - 6,580 2.6 -
o | R 33,070| 17.5|A 12,090 12,060 8. 2| A 1,900
#=OANEV 20,980| 13.3 10,160 9.3
a & 54,050 15.6 - 22,220 8.7 -
& @R 5,400 2.9|A 140 8,900 6.1|A 340
BB R H W 5,260 3.3 8,560 7.8
a & 10, 660 3.1 - 17,460 6.8 -
SRIFERAER
04 J1 02 H 04 J1 27 H 05 1 01 H ~06 7 01 H
flid] I = 7 5l & i) b E 7 5l &
Ao - |FEY 0 0.0 350 0.2|A 350
B\ |Ew 0 0.0 0 0.0
& 0 0.0 - 350 0.1 -
o - B 0 0.0 0 0.0
6RO E W 0 0.0 0 0.0
& 0 0.0 - 0 0.0 -
7D 4,150 2.2 8,070 5.5
ERR 5,260 3.3 1,110 8,410 7.7 340
& i 9,410 2.7 - 16,480 6. 4 -
z o |7 1,250 0.7|A 1,250 480 0.3|A 330
4 ks B B W 0 0.0 150 0.1
& 1,250 0.4 - 630 0.2 -
EA. BHCOBIA - (5B il SHENFEBEICET BIEA, EAOHE
oA B 5t D A
o o =N
{E A4 0.0 0.0 B A
EAEH 0.0 0.0
HoBi® 0.0 0.0
HOEH 0.0 0.0
ek K BRGE % B 5] P



